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1. Find the ' direction ratio of
3—x y—2 2z-3
1 5 1
a) 1:5:% b)—1:5:1 c)—1:5:% d)1:5:1

2. [Ifly,mq,nq and l;, my, n, are direction cosines of the two lines inclined to each other at an angle 8, then
the direction cosines of internal bisector of the angle between these lines are

l1+l2 mi+m, n;i+n, b ll+12 my+tm, n;+n,
) ) 7 7
2 sing 2 sing 2 sing 2 cosg 2 cosg 2 cosg
c li-l; my—-my; ny—n, d li-l; mi—-my; n;—n,
CE -0 ’_ .0 9’ 9 2
2 sin; 2 sin; 2 sin; 2 cos; 2 cos; 2 cos;

3. The planeg + % + i = 1, cuts the axes in 4, B, C, then the area of the AABC, is
a) V29 sq units b) V41 sq units c) V61 sq units d) None of these

4. Iftheplanes7~ (2 — Aj + 3k) = 0 and 7% (Ai + 5] — k) = 5 are perpendicular to each other, then
value of A2 + 4, is
a)o b) 2 c)3 d)1

5. Ifasphere of radius r passes through the origin, then the extremities of the diameter parallel to x-axis
lie on each of the spheres
a)x?+y*+2z2+2rx=0 b)x*+y*+3z%2+2ry=0
c)x?+y2+2z24+2r3=0 d)x2+y2+2z2+2ry+2rz=0

6. Ifthe distance of the point (1, 1,1) from the origin is half is distance from the planex + y + 3+ k = 0,
then k is equal to

a) £3 b) £6 c) 3,9 d) 3,-9

7. XOZ plane divides the join of (2, 3, 1) and (6, 7, 1) in the ratio
a)3:7 b)2:7 c)—=3:7 d)—2:7

8. The point on the line % = y_—f = ?25 at a distance of 6 from the point (2, —3,—5) is
a) (3,_5,_3) b) (4l_7l _9) C) (O) 21_1) d) (_3) 5: 3)

9. The direction ratios of a normal to the plane passing through (0, 0, 1), (0, 1, 2) and (1, 2, 3) are
proportional to
a)0,1,-1 b)1,0,—1 c)0,0,—1 d)1,0,0

10. Ratio in which the xy-plane divides the join of (1, 2, 3) and (4, 2, 1) is
a) 3 : 1 internally b) 3 : 1 externally c) 1 : 2 internally d) 2 : 1 externally
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11. Avector 7 is equally inclined with the coordinate axes. If the tip of 7 is in the positive octant and |7| =
6, then 7 is
a)2V3(@—j+k) b)2V3(—i+j+k) ) 2V3({i+j—k) d)2V3(@+j+k)

12. The angle between the planes 2x —y+z =6andx +y + 2z = 3 is
a)m/3 b) cos™1(1/6) c) /4 d)m/6

13. The vector equation of the plane through the point 2 i — j — 4 k and parallel to the plane 7 -
(4t-12j-3k)—-7=0,is

a)7-(41—-12j-3k)=0

b)7-(4t1—12j-3k) =32

of-(41—-12j-3k) =12

d) None of these

14. An equation of the line passing through 3i — 5§ + 7k and perpendicular to the plane 3x — 4y = 5z =

8is
) i3 oS 27 p)i =2+t 2
3 -4 5 N 3 =5 7 .
c) r=31+5—7k+ A(3i—4j—5k) d) r=3i—4j—-5k+uGi+
5§ + 7k)

/1, u are parameters

15. The equation of alineis 6x — 2 = 3y — 1 = 2z — 2 The direction ratios of the line are

a) 1,2,3 b)1,1,1 9 d) %"?1%
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16. Angle between the line # = (2i —j + k) + A(—1 +j + k) and the plane 7 - (3i + 2j — k) = 4 s
a) cos™! (i) b) cos™?! (_—2) c) sin™?! (L) d) sin™?! (_—2)
Vaz Vaz Vaz Vaz.
17. A mirror and a source of light are situated at the origin O and at a point on OX respectively. A ray of

light from the source strikes the mirror and is reflected. If the direction ratios of the normal to the plane
are proportional to 1, —1, 1, then direction cosines of the reflected ray are

a)l’E,E b)_l'E'Z c)_l,_EI_E d)_l'_Z'Z
: 8 2’3’3 BE 3 23’ 3
18. If the direction ratio of two lines are given by 3lm — 4In + mn = 0 and
[+ 2m + 3n = 0, then the angle between the line is
T T T T
a) ¢ b) 7 c) 3 d) 3

19. The points A(—1,3,0),B(2,2,1) and €(1,1,3) determine a plane. The distance from the plane to the
point D(5,7,8) is

a) V66 b) V71 ) V73 d) V76
20. The line of intersection of the planes 7+ (3i —j + k) = 1 and # - (i + 4f — 2k) = 2 is parallel to the
vector

a) —2i+ 7j + 13k b) 21 + 7j — 13k c) —21—7j + 13k d) 2t + 7j + 13k




